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o Show the student 24 pop sticks.

o Ask the student to count them (correct if necessary), and to write the symbol for
the number.

o Circle the ‘4", and ask “Does this part of your 24 have anything to do with how
many sticks you have? Please show me.”

o Circle the ‘2", and ask “Does this part of your 24 have anything to do with how
many sticks you have? Please show me.”




Table 1. Of the 16 participants, 14 knew that the “4” in “24” stood for 4 of the sticks,
but only 7 could correctly state that the “2” in “24” stood for two collections of ten

sticks.

Table 1 Summary of results of digit correspondence questions (first interview)

Question: Does the “4” in your “24” have anything to do with the

number of sticks?

Response Number of Responses
4 sticks 14

NoO 2

| Does the “2” in your “24” have anything to do with the number of
| sticks?

Response Number of Responses
20 sticks 7
2 sticks 8

{ No 1
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Question: Does the “7” in your “37" have anything to do with the
number of sticks?

Response Number of Responses
7 sticks 14
No _ 12 _

Does the “3” in your “37” have anything to do with the number of
sticks?

, Response (initial) Number of Responses
| 30 sticks 6
| 3 sticks 7
| No 3
Response (final) Number of Responses
30 sticks | 11
3 sticks 4
| No | 1




Second inferview resul

In the second inferview, after the participants had spent ten sessions working with
materials modelling two- and three-digtt numbers, participants’ esponses to digi
comespondence questions differed. The students were asked to count 37 pop sticks, and
to explain the “3" and the “7", Results are summarised in Table 2 There was no
significant difference between students who had used blocks and those who had used
the computer, $o these are not reported here
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